
=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\J���������
��������������

6SHF��QDXF]\��3RGVWDZ\
SV\FKRORJLL�GOD
QDXF]\FLHOL� GU�KDE�
1DSRUD�(OĪELHWD� =%�
����� ���)$�/����/�
1-$��8&.8�1$�/����
3313��8&.8�1$�/����
3313�/�

*U����]JRGQLH�]�8626

�������������7\G]��

3URMHNWRZDQLH
XQLZHUVDOQH� GU�ĩHODVNR�
0DNRZVND�(ZHOLQD��SURI�
8-'� =%������ ���$'0�
0����:$5�

�������������7\G]���

36:�MĊ]\N�F]HVNL�$�� 6]
F]HUELĔVND�0DUW\QD� =%�
����� 36:�2-�8&.8�
&=�$�

�������������7\J��������
���������

=DVDG\�WHFKQLNL
SUDZRGDZF]HM��ZDU�� GU
3DUDGRZVNL�0DULXV]� =%�
����� ���35$�'����
:$5�

�������������7\J���������
���������

2UJDQL]DFMD�L
]DU]ąG]DQLH�Z
DGPLQLVWUDFML��üZ�� GU
+DPSHO�.DWDU]\QD� =%�
����� ���$'0�/����&�

Z�W\J�����]DMĊFLD�RG
�����

�������������7\G]���

3URMHNWRZDQLH
XQLZHUVDOQH� GU�ĩHODVNR�
0DNRZVND�(ZHOLQD��SURI�
8-'� =%������ ���$'0�
0����:$5�

������
������
7\G]���

3URMHNWRZD
QLH
XQLZHUVDOQ
H� GU
ĩHODVNR�
0DNRZVND
(ZHOLQD�
SURI��8-'�
=%������ �
��$'0�0�
���:$5�

�������������7\J������

3':� SURI��]Z��GU��KDE�
*U]\ERZVNL�0DULDQ� =%�
����� ���$'0�0����&�

:áDG]D�Z\NRQDZF]D�Z
SDĔVWZDFK�HXURSHMVNLFK
Z�XMĊFLX
SUDZQRSRUyZQDZF]\P

�������������7\G]���

3V\FKRORJLD�GOD
SUDZQLNyZ�6RFMRORJLD
GOD�SUDZQLNyZ��ZDU�� GU
1DSRUD�:RMFLHFK� =%�
����� ���35$�'����:

������
������
7\G]���

3URMHNWRZD
QLH
XQLZHUVDOQ
H� GU
ĩHODVNR�
0DNRZVND
(ZHOLQD�
SURI��8-'�
=%������ �
��$'0�0�
���:$5�

�������������7\J�����

'UXJL�MĊ]\N�REF\���MĊ]\N
IUDQFXVNL��üZ�� GU
6NZDUD�$QGU]HM� =%�
����� ���)$�/����/�
7-6�����)$�/����/��1-$

�������������7\J���������
��������������

6SHF��QDXF]\��3RGVWDZ\
SHGDJRJLNL�GOD
QDXF]\FLHOL�V]� GU�KDE�
SURI��8-'�0DU]HF
$UNDGLXV]� =%������ ���
:)�/����:��8&.8�1$�
/����333��8&.8�1$�/�
���333�/�

*U����]JRGQLH�]�8626

������
������
7\G]���

6SHF�
QDXF]\�
3RGVWDZ\
SHGDJRJLNL
GOD
QDXF]\FLHOL
V]� GU�KDE�
SURI��8-'
0DU]HF
$UNDGLXV]�
=%������ �
��:)�/����
:��8&.8�
1$�/����
333�
8&.8�1$�
/����333�
/�

*U��
]JRGQLH�]
8626

�������������7\J�������

0HWRG\�EDGDĔ�MDNRĞFLRZ\FK� :LĞQLHZV
ND�'U\OO�(OĪELHWD� =%������ ���$.6�/�
���&�

�������������7\J���������
��������������

6SHF��QDXF]\��3RGVWDZ\
SHGDJRJLNL�GOD
QDXF]\FLHOL�V]� GU�KDE�
SURI��8-'�0DU]HF
$UNDGLXV]� =%������ ���
)$�/����/��1-$�����&�/�
���&1�:DU�����(0�/����
���:)�/����:��8&.8�
1$�/����333��8&.8�1$�
/����333�/�

*U����]JRGQLH�]�8626

�������������7\G]��

:DUV]WDW�LQWHJUDF\MQ\��üZ�� :LĞQLHZVN
D�'U\OO�(OĪELHWD� =%������ ���36<�'���
/�

SR
QL

HG
]L

Dã
HN

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

������
������
7\G]���

6SHF�
QDXF]\�
3RGVWDZ\
SHGDJRJLNL
GOD
QDXF]\FLHOL
V]� GU�KDE�
SURI��8-'
0DU]HF
$UNDGLXV]�
=%������ �
��)$�/���
/��1-$�����
&�/����&1
:DU�����
(0�/����
���:)�/�
���:�
8&.8�1$�
/����333�
8&.8�1$�
/����333�
/�

*U��
]JRGQLH�]
8626

SR
QL

HG
]L

Dã
HN

�������������7\J��������
���������

36:�MĊ]\N�FKRUZDFNL
$�� (FOHU�3DVNX
0DUW\QD� =%������ 36:�
2-�8&.8�&+25�$�

�������������7\J��������
��

3UDZR�NRQVW\WXF\MQH
�ZDU�� GU�0XFKD
.U]\V]WRI� =%������ ���
35$�'����:$5�

:�W\J�����]DMĊFLD�RG
JRG]�������

�������������7\J��������
��

3UDZR�NRQVW\WXF\MQH
�ZDU�� GU�0XFKD
.U]\V]WRI� =%������ ���
35$�'����:$5�

Z�W\J�����]DMĊFLD�GR
JRG]�������

�������������7\J��������
���������

àDFLĔVND�WHUPLQRORJLD
SUDZQLF]D��ODE�� GU�KDE�
-DQXV�.DWDU]\QD� =%�
����� ���35$�'����/�

������
�������7\J
����

7HRULH
SU]\VZDMDQ
LD�MĊ]\ND� G
U
5RNRV]HZ
VND
.DWDU]\QD�
%LJ�%OXH
%XWWRQ�
=DMĊFLD�RQ�
OLQH��=%�
����� ���
)$�/����/��
1-$�����
)*�/����:

=DM��Z�W\J�
��L���
VWDFMRQDUQ
H�VDOD�=%�
����
=DMĊFLD�GOD
VSHFMDOL]DF
ML
QDXF]\FLHO
VNLHM�:
W\J�����
������
�����

�������������7\J�������
�����

6HPLQDULXP�G\SORPRZH�
GU�.XFKDUVNL�2OJLHUG� =%
������ ���$'0�/����:

�������������7\J������

6HPLQDULXP�G\SORPRZH�
GU�.XFKDUVNL�2OJLHUG� =%
������ ���$'0�/����:

Z
WR

UH
N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\J�����

3':�,,� PJU�6]HFyZND
3DZHá� =%������ ���35$�
'����:

3UDZR�EDQNRZH

�������������7\J������
�����

3':�,,� PJU�6áXĪDOHF
0LFKDá� =%������ ���35$�
'����:

3UDZR�VSRUWRZH

�������������7\J����

3UDZR�JRVSRGDUF]H
SXEOLF]QH�L�SUDZR
NRQNXUHQFML��ZDU�� GU
:RMWNRZLDN�$QQD� =%�
����� ���35$�'����
:$5�

�������������7\J������

6HPLQDULXP�G\SORPRZH�
SURI��]Z��GU�KDE
*OXPLĔVND�3DZOLF
-DGZLJD� =%������ ���
35$�'����:

�������������7\J������
�����

3UDZR�L�SRVWĊSRZDQLH
SRGDWNRZH��ZDU�� GU
6á\V]�$OHNVDQGHU� =%�
����� ���35$�'����
:$5�

�������������7\G]���

àDFLĔVND�WHUPLQRORJLD
SUDZQLF]D��ODE�� GU�KDE�
-DQXV�.DWDU]\QD� =%�
����� ���35$�'����/�

�������������7\J������
���������

6HPLQDULXP�G\SORPRZH�
GU�KDE��SURI��8-'
+DEXGD�$GDP� =%������
���35$�'����:

�������������7\J������
��

6HPLQDULXP�G\SORPRZH�
GU�.XFKDUVNL�2OJLHUG� =%
������ ���$'0�/����:

ĤU
RG

D

�������������7\J��������
���������

36:�MĊ]\N�F]HVNL�$�� 6]
F]HUELĔVND�0DUW\QD� =%�
����� 36:�2-�8&.8�
&=�$�

�������������7\J��������
���������

3':�,� PJU�:U]DOLN
0DJGDOHQD� =%������ ���
$'0�/����:

8VWUyM�VáXĪE�SROLF\MQ\FK
���:VSyáF]HVQH�SUDZR
Z\ERUF]H

�������������7\J��������
���������

3V\FKRORJLD�GOD
SUDZQLNyZ�6RFMRORJLD
GOD�SUDZQLNyZ��ZDU�� GU
1DSRUD�:RMFLHFK� =%�
����� ���35$�'����
:$5�

�������������7\J��������
���������

3V\FKRORJLD�GOD
SUDZQLNyZ�6RFMRORJLD
GOD�SUDZQLNyZ��ZDU�� GU
1DSRUD�:RMFLHFK� =%�
����� ���35$�'����
:$5�

�������������7\J����

'UXJL�MĊ]\N�REF\���MĊ]\N
IUDQFXVNL��üZ�� GU
6NZDUD�$QGU]HM� =%�
����� ���)$�/����/�
7-6�����)$�/����/��7-6�
���)$�/����/��1-$

�������������7\J����

'UXJL�MĊ]\N�REF\���MĊ]\N
IUDQFXVNL��üZ�� GU
6NZDUD�$QGU]HM� =%�
����� ���)$�/����/�
7-6�����)$�/����/��7-6�
���)$�/����/��1-$F]

Z
DU

WH
N

�������������7\J���������
�

3':�,9� GU�:UyEHO
$OHNVDQGHU� =%������ ���
35$�'����:

,QWURGXFWLRQ�WR�3ROLVK
&ULPLQDO�/DZ

�������������7\J����

(NRQRPLD�GOD�SUDZQLNyZ
�üZ�� GU�.XU]DN�0DEURXN
$QQD� =%������ ���35$�
'����&�

�������������7\J��������
���������

3RGVWDZ\�]DU]ąG]DQLD
�NRQZ�� GU�.DEXV
'RPLQLN� =%������ ���
(.2�/����&�

�������������7\J��������
���������

0DNURHNRQRPLD��üZ�� GU
%XUXQRYD�2OHQD� =%�
����� ���(.2�/����û:

�������������7\G]���

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

�������������7\G]���

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

SL
ĈW

HN

�������������7\G]��

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\J�����

3UDZR�F\ZLOQH��
]RERZLą]DQLD�L�VSDGNL
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD� =%������ ���
35$�:����:$5

�������������7\G]���

3URMHNWRZDQLH�]DGDĔ
V]NRá\� PJU�5\JDá
(ZHOLQD� =%������ 63����
=32���

�������������7\G]��

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\G]��

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\J�����

3RVWĊSRZDQLH�F\ZLOQH
�ZDU�� GU�-DVLĔVND�
5XG]ND�-XVW\QD� =%�
����� ���35$�:���
:$5

�������������7\G]��

3':�,,� GU�.XFKDUVNL
2OJLHUG� =%������ ���
35$�:����:$5

3UDZR�8U]ĊGQLF]H��2G
�����

�������������7\G]��

3RVWĊSRZDQLH�F\ZLOQH
�ZDU�� GU�-DVLĔVND�
5XG]ND�-XVW\QD� =%�
����� ���35$�:���
:$5

�������������7\G]��

,VWRWD�L�UR]ZyM
VDPRU]ąGX
WHU\WRULDOQHJR�QD
]LHPLDFK�SROVNLFK� 5XNV
]D�3DZHá��PJU� =%������
���$'0�6����.

=DVWĊSVWZR�PJU�3DZHá
5XNV]D

�������������7\J��������

3RGVWDZ\�SUDZD
NDUQHJR��üZ�� GU�:UyEHO
$GDP� =%������ ���$'0�
5����&�

�������������7\G]���

8VWUyM�VDPRU]ąGX
WHU\WRULDOQHJR��üZ�� 5XNV
]D�3DZHá��PJU� =%������
���$'0�5����&�

�������������7\J�����

3R]\FMD�SUDZQD�UDGQ\FK
L�IXQNFMRQDULXV]\
VDPRU]ąGRZ\FK� 5XNV]D
3DZHá��PJU� =%������ ���
$'0�6����.

�������������7\J������

3XEOLF]QH�SUDZR
NRQNXUHQFML��üZ�� GU
:RMWNRZLDN�$QQD� =%�
����� ���$'0�6����:

�������������7\J��������

3RGVWDZ\�SUDZD
NDUQHJR��üZ�� GU�:UyEHO
$GDP� =%������ ���$'0�
5����&�

�������������7\G]���

3':�,,� 5XNV]D�3DZHá�
PJU� =%������ ���$'0�5�
���.

3DUW\F\SDFMD
PLHV]NDĔFyZ�Z
VDPRU]ąG]LH
WHU\WRULDOQ\P

�������������7\J������
��

3R]\FMD�SUDZQD�UDGQ\FK
L�IXQNFMRQDULXV]\
VDPRU]ąGRZ\FK� 5XNV]D
3DZHá��PJU� =%������ ���
$'0�6����.

�������������7\J������

3XEOLF]QH�SUDZR
NRQNXUHQFML��üZ�� GU
:RMWNRZLDN�$QQD� =%�
����� ���$'0�6����:

Z�W\J�����]DMĊFLD�GR
JRG]�������

�������������7\G]��

8VWUyM�VDPRU]ąGX
WHU\WRULDOQHJR��üZ�� 5XNV
]D�3DZHá��PJU� =%������
���$'0�5����&�

�������������7\G]���

=DPyZLHQLD�SXEOLF]QH
�üZ�� GU�0XFKD
.U]\V]WRI� =%������ ���
$'0�5����&�

�������������7\G]��

3RVWĊSRZDQLH�NDUQH
�ZDU�� GU�%DUWQLN�0RQLND�
=%������ ���35$�:���
:$5

�������������7\G]��

3UDZR�L�SRVWĊSRZDQLH
SRGDWNRZH��ZDU�� GU
6á\V]�$OHNVDQGHU� =%�
����� ���35$�:���
:$5

�������������7\G]���

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

�������������7\G]���

3RGVWDZ\�SUDZD
NDUQHJR��üZ�� GU�:UyEHO
$GDP� =%������ ���$'0�
5����&�

�������������7\G]���

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

VR
ER

WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\G]���

0DUNHWLQJ�Z�RĞZLDFLH� P
JU�5\JDá�(ZHOLQD� =%�
����� 63����=32���

�������������7\G]���

8VWUyM�VDPRU]ąGX
WHU\WRULDOQHJR��üZ�� 5XNV
]D�3DZHá��PJU� =%������
���$'0�5����&�

�������������7\G]���

3':�,,� 5XNV]D�3DZHá�
PJU� =%������ ���$'0�5�
���.

3DUW\F\SDFMD
PLHV]NDĔFyZ�Z
VDPRU]ąG]LH
WHU\WRULDOQ\P

�������������7\G]���

3':�,,� 5XNV]D�3DZHá�
PJU� =%������ ���$'0�5�
���.

3DUW\F\SDFMD
PLHV]NDĔFyZ�Z
VDPRU]ąG]LH
WHU\WRULDOQ\P

������
������
7\G]���

3':�,,� 5X
NV]D
3DZHá�
PJU� =%�
����� ���
$'0�5����
.

3DUW\F\SDF
MD
PLHV]NDĔF
yZ�Z
VDPRU]ąG]
LH
WHU\WRULDOQ\
P

VR
ER

WD

�������������7\J���������
�

3UDZR�SUDF\��ZDU�� PJU
.DF]PDU]\N�:LWHFND
0DJGDOHQD� =%������ ���
35$�:����:$5

�������������7\G]���

.LHURZDQLH�]PLDQą
HGXNDF\MQą� %LHQLHZVND
,ZRQD� =%������ 63����
=32���

�������������7\G]���

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\J���������
�

3UDZR�SUDF\��ZDU�� PJU
.DF]PDU]\N�:LWHFND
0DJGDOHQD� =%������ ���
35$�:����:$5

�������������7\G]���

.LHURZDQLH�]PLDQą
HGXNDF\MQą� %LHQLHZVND
,ZRQD� =%������ 63����
=32���

������
������
7\G]���

=DVDG\
XVWURMX
SROLW\F]QHJ
R
5]HF]\SRV
SROLWHM
3ROVNLHM
�üZ�� PJU
:U]DOLN
0DJGDOHQD
� =%������
���$'0�6�
���&�

�������������7\G]���

6HPLQDULXP� GU
.XFKDUVNL�2OJLHUG��GU
0XFKD�.U]\V]WRI� =%�
����� ���$'0�5���
6(0�

�������������7\G]��

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

�������������7\J������

3':�,,� 5XNV]D�3DZHá�
PJU� =%������ ���$'0�5�
���.

3DUW\F\SDFMD
PLHV]NDĔFyZ�Z
VDPRU]ąG]LH
WHU\WRULDOQ\P

�������������7\J������

=DU]ąG]DQLH�]DVREDPL
OXG]NLPL�Z�DGPLQLVWUDFML
SXEOLF]QHM��üZ�� GU
+DPSHO�.DWDU]\QD� =%�
����� ���$'0�6����&�

�������������7\G]��

3UDZR�F\ZLOQH��
]RERZLą]DQLD�L�VSDGNL
�ZDU�� PJU�.ZLDWNRZVND
.DUROLQD� =%������ ���
35$�:����:$5

�������������7\G]���

=DU]ąG]DQLH�ILQDQVDPL�Z
SODFyZFH�RĞZLDWRZHM� 3Q
LDNRZVND�6\VND�0RQLND�
=%������ 63����=32���

�������������7\J�����

3RVWĊSRZDQLH
DGPLQLVWUDF\MQH�L
VąGRZRDGPLQLVWUDF\MQH
�ZDU�� GU�:yMFLFND�(ZD�
=%������ ���35$�:���
:$5

�������������7\J������

3':�,,� 5XNV]D�3DZHá�
PJU� =%������ ���$'0�5�
���.

3DUW\F\SDFMD
PLHV]NDĔFyZ�Z
VDPRU]ąG]LH
WHU\WRULDOQ\P

�������������7\G]��

3UDZR�PLĊG]\QDURGRZH
�üZ�� GU�.DQLHZVND
'RURWD� =%������ ���
$'0�5����&�

]DMĊFLD�RG������

�������������7\G]��

,VWRWD�L�UR]ZyM
VDPRU]ąGX
WHU\WRULDOQHJR�QD
]LHPLDFK�SROVNLFK� 5XNV
]D�3DZHá��PJU� =%������
���$'0�6����.

=DVWĊSVWZR�PJU�3DZHá
5XNV]D

�������������7\G]��

=DPyZLHQLD�SXEOLF]QH
�üZ�� GU�0XFKD
.U]\V]WRI� =%������ ���
$'0�5����&�

�������������7\J��������
�

3UDZR�PLĊG]\QDURGRZH
�üZ�� GU�.DQLHZVND
'RURWD� =%������ ���
$'0�5����&�

�������������7\G]���

3RGVWDZ\�RUJDQL]DFML�L
]DU]ąG]DQLD� GU�.XU]DN�
0DEURXN�$QQD� =%������
63����=32���

�������������7\J�������

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

�������������7\J�������

3UDZR�PLĊG]\QDURGRZH
�üZ�� GU�.DQLHZVND
'RURWD� =%������ ���
$'0�5����&�

�������������7\J�������

6HPLQDULXP� GU�'HU\QJ�
']LXN�$QQD� =%������ ��
�35$�:����:

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���=%�������7\J������

�������������7\G]���

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\G]���

=DVDG\�XVWURMX
SROLW\F]QHJR
5]HF]\SRVSROLWHM
3ROVNLHM��üZ�� PJU
:U]DOLN�0DJGDOHQD� =%�
����� ���$'0�6����&�

�������������7\G]���

=DU]ąG]DQLH�ILQDQVDPL�Z
SODFyZFH�RĞZLDWRZHM� 3Q
LDNRZVND�6\VND�0RQLND�
=%������ 63����=32���

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


